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Question Bank
&fe® 6@ ( Elective Course )

wrfife ( Economics )

TP 7[q ( 6th Paper )
Comprehensive Economic Development (Britain/Japan/China) & Basics of
Environmental Economics : EEC-6

Which year is considered by Toynbee as the beginning year of European Industrial Revolution?
BRI WS SSCA RgReicad o ¥ (PG 41123 2

In which European country the Industrial Revolution first took place?

BTCHICR (1 (A0 RiggfRie &2 72eibw 23 2

Which economist described the transition of Britain from ‘take off’ to ‘self-sustained growth’?
(R SIS fFIBTE (B ORF (/TP <O PACE 3G Call ST T o0 FCae 2

Which of the two industries contributed most in the Industrial Revolution of Britain?

9ot e (P Mg Sawis S 2

In what way the ‘Enclosure movement’ influenced the Industrial Revolution in Britain?
SIS STHIE PO JH FaReRce eeite $ 92

Flying Shuttle, Carding machine, Spinning Jenny, Water frame are the machines used in
Industrial Revolution in Britain in

BT PR =g 132 *i5a, Fif6e i, 7ifRe (wfv @ TR (Fw (IR @9 HE /e 9 2

Who invented the machine ‘Waterframe’?

SAGRCFY T36 (F TTERT FC 2

What does the ‘Industrial Revolution’ stand for as an index?

ey Rz o= P 2

At the time of Industrial Revolution which industry had a great influence on the entire British
economy through ‘Backward linkage’ and ‘Forward linkage’?
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Name the Central Bank of Britain.

fRCBTT vty <teEs = 6 2

In 1651 the ‘Navigation Act’ was introduced by Britain to destroy the supremacy in
international trade of a particular country. Name the country.
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What do you mean by Laissez-faire?

TG -CFRD IETCS [ (R 2

What is the meaning of the title ‘Shogun’ in the 16" century Japan?
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What is the previous name of Tokyo, the capital of Japan?
SISAICTR TSI (G e3 STam 1 [ fioet 2

In which year was the Meiji rule restored in Japan?
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In 1854, the closed economy Japan had opened up two harbours for American trade after she
entered into an agreement with America at the initiative of an American. Name him.

1854 1tT T SHAOT QA SCARRIR 0% e &y 9 T S P | WA 70F U2 pfe o F S0
GG AR | O 1 2

Under Tokugawa rule, the ‘Military Administrators’ were called
CORFSGTT M ST TG 2o i 5 ey 2

In view of the ‘Communism’ in China, what is meant by ‘Communes’?

BIC SRS HGTT ARCHRS FRGPT FICE 0T 2

The duty of the environment is to ............... the waste produced as a by-product of the

economic activity of production.
AR FTer 20T SLCATT AFAR B TGT oML bl
In the case of renewable wealth, suppose the rate of planting of a particular type of tree is

greater than the rate of felling of such trees, then the result will be ...............
AT TR () R T (T OF 470 9% (FC6 (6T 20, © chmi‘%mwmﬂﬁﬁﬁfﬂ

What is exhaustible wealth?
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If the pollution level is to be confined within a certain limit, the least costly method is ........ .
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174 countries decided to bring down the carbon dioxide emission to 1990 level within 2000 at
the Earth Summit held in ...............
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To stop ‘Acid rain’, it is necessary to reduce production of ............... .
SIPTG 32 77 S G (PR TRAMA 3T 1 ARG 2

The export will be controlled by the Govt. if
Y SR TR R SIS 2107 3% 2
In which of the following situation an international understanding in respect of pollution

control is possible?
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Which gas is responsible for the depletion of ‘Ozone layer’?
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Which gas is termed as ‘Green House gas’?
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The root cause of ‘Acid Rain’ is

SIFTG 934 & P12

When the average sea level will rise and all the low lands of Earth will be flooded and the
islands will be inundated?
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